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1−

0.5−

0
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1
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a1
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4e
X

1X
alpha13_4eX1X:cyclenum {run == 6595}

6587 6587.5 6588 6588.5 6589
cyclenum

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

al
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a4
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4e
Y
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Y

alpha46_4eY4aY:cyclenum {run == 6595}
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X

delta13_12X4eX:cyclenum {run == 6595}
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delta46_12X4eY:cyclenum {run == 6595}
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run:cyclenum {run == 6595}
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segment:cyclenum {run == 6595}



6587 6587.5 6588 6588.5 6589
cyclenum

142.5−

142−

141.5−

141−

140.5−us
l_

1X

usl_1X:cyclenum {run == 6595}

6587 6587.5 6588 6588.5 6589
cyclenum

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

19.6

19.8
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l_

4a
Y

usl_4aY:cyclenum {run == 6595}
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4e
X

usl_4eX:cyclenum {run == 6595}
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cyclenum

11
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l_

4e
Y

usl_4eY:cyclenum {run == 6595}
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55.4−

55.2−

55−

54.8−

54.6−

54.4−

54.2−

54−

53.8−

53.6−

53.4−

53.2−
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X

usl_12X:cyclenum {run == 6595}
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6595.5
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n

run:cyclenum {run == 6595}



6587 6587.5 6588 6588.5 6589
cyclenum

156.5−

156−

155.5−

155−

154.5−

us
r_

1X

usr_1X:cyclenum {run == 6595}
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cyclenum

21.2

21.4
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21.8
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22.2

22.4
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23.4
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Y

usr_4aY:cyclenum {run == 6595}
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X

usr_4eX:cyclenum {run == 6595}
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Y
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47−

46.5−

46−

45.5−

45−
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X

usr_12X:cyclenum {run == 6595}
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cyclenum
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6594
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6595
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6596

6596.5

6597
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n

run:cyclenum {run == 6595}



6587 6587.5 6588 6588.5 6589
cyclenum

30179.6

30179.8

30180

30180.2

30180.4

30180.6

30180.8

30181

30181.2

30181.4

30181.6

30181.8

us
l_

co
il1

usl_coil1:cyclenum {run == 6595}
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6320.5

6321
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6322
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l_
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il3

usl_coil3:cyclenum {run == 6595}
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cyclenum

5840.5

5841
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5842
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l_
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il4

usl_coil4:cyclenum {run == 6595}
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972.5−
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usl_coil6:cyclenum {run == 6595}
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21454
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usl_coil7:cyclenum {run == 6595}
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6596

6596.5
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ru
n

run:cyclenum {run == 6595}
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26763−

26762.5−
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26761.5−
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il1

usr_coil1:cyclenum {run == 6595}
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5331−

5330.5−

5330−

5329.5−

5329−us
r_

co
il3

usr_coil3:cyclenum {run == 6595}
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4578.2

4578.4

4578.6

4578.8

4579

4579.2

4579.4

4579.6

4579.8
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4580.2

4580.4
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r_
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il4

usr_coil4:cyclenum {run == 6595}
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781.8−
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781.2−
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780.8−
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779.8−

779.6−
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il6

usr_coil6:cyclenum {run == 6595}
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cyclenum
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20638.5

20639

20639.5

20640
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r_
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il7

usr_coil7:cyclenum {run == 6595}
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n

run:cyclenum {run == 6595}



6587 6587.5 6588 6588.5 6589
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420.5−
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418.5−

1X
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1X_coil1:cyclenum {run == 6595}

6587 6587.5 6588 6588.5 6589
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70.5−

70−

69.5−

69−

68.5−
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1X_coil3:cyclenum {run == 6595}
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20.4
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1X_coil7:cyclenum {run == 6595}
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4eX_coil1:cyclenum {run == 6595}
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90.8−
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90.4−

90.2−

90−

89.8−
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89−
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4eX_coil3:cyclenum {run == 6595}
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4aY_coil6:cyclenum {run == 6595}
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6587 6587.5 6588 6588.5 6589
cyclenum

188.5

189

189.5

190

190.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6595}
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12X_coil1:cyclenum {run == 6595}
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run:cyclenum {run == 6595}
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